www.m4ths.com — C1 Indices

(1) Simplify the following:

(@) m*>xm?

(b) m*xm™

(c) 3mx2m®

(d) 5m® x%ms «4m2

(e) m*(1-m*)
M m°+m®
(g) 6m=+3m®

8m
) am

 9Im®x6m
i
0 3m™

(j) m*x(-6m)*

5
4

(2) Simplify the following:

(a) (2m?)

(b) 3(m*n)’

(c) (3m‘1n2)3
(d) (3m?)(3m*)

ol

(3) Simplify the following:

(a) 3°

(b) a°

(c) 3m°

(d) (6m)’
m° x6m

(©) 3m°

(4) Evaluate the following:

(a) 2
(b) 3

2 -3
(© (g]
(d) 4x2™*
3
(e) 17

4 1
)] 41><3—2
1

(9) 5><3T2

(6) Write each of the following
with a positive index:

(a) m*
(b) 3m
4
() =
(d) 5m™
2m* )
(E)( 3 ]
(7) Write each of the following

values as a power of 10:
(a) 100

1
®) 5
(c) 0.01
(d) 0.002

(8) Evaluate the following:
1
(a) 252
1
(b) 8°

(© 81%
(d) 160.25
(e) 0.01%°

1
(f) 3x1253
(g) 0.09°° x~/10000

(9) Simplify the following:
@ (m')

(b) (8m3)3

(c) 3(16m-1)3

(d) (625m2n3)‘11 x(81mn)™
(10) Evaluate the following:
@ 8§

(b) 16%1

(c) 273
(d) 810.75
(e) 320.6

4
0[]

© Steve Blades

(9) (3"2 X 27;]

9 15
(h) (1E]

(11) Simplify the following:
(a) (8m*)?
(b) 92 x(m*)”
(12) Evaluate the following:
(a) 25 2
(b) 8°
(c) 3x16 *
0y’
(d) (2—5]
(e) (0.16)_%
(13) Simplify the following:
(a) (4m™) 2x5°

9m®sn? ‘%
(b)( o ]

(©) (2m)~ x(32m?)

25

(14) Find the values ofaandn
such that:

(?>m3)_2 x (9m2)1'5 =am"

(15) The area of the rectangle
below is 96 square units. Find
the perimeter of the rectangle.

m"

3m’

(16) Given, when simplified,
the expression
a3 2 .

X —=X
(2x) 7 (6x") is
independent of terms in X :
(a) Find the value ofn .
(b) Write down the value of the
expression.



